





O O O O OO OO o ok -k

TP.+0.5m






(H8-17 Ave.)




TP.+ TP.+

TP.+0.5
TP.+0.3

l TP.+0.5






TP.+

TP.+




1 2 3 45 6 7 8 9 1011 12 13 14 1516 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

e,




AR 1A el




o Al

IZER A0

J\ I RE]
EmOIEHLE
E

REBN

FI T

T T

10



0.7
0.6
0.5
0.4
0.3
0.2
0.1

6:00

W T

1l L

J B ]
EmOieic
E

T T

11



12

[l E L TN PRl
P T T

Gl

009




0.7
0.6
0.5
0.4
0.3
0.2
0.1

= E]

1ZER A
o o o /c{
Q @ 9@ @ e e e eve e < [ EEEEEE |
© ~ &b o
Y
7’
7
J L]
{ Emiivmaic
E
o o =
< O EmE
o —i
~— —
M ET
RGEEEL |1
o o o o o FEEET
o o o o o —
6 — (q\] m <t 7 o o
~— — ~— — ~—

13



0.7
0.6
i, % k.
04 ¢
HEEALC
03 |
02
0'1 i 1ZERA
0
o
(=
(o]
IR EE]
LB
H1{E]
PEEE | VT
“ EA#LET
i i (—

10:00 13:00 :

14



15



(£ S

(SS)
(T-N) (T-P) (Cl)

3/9 3/16 3/27

+ 16



(SS)

(

0.45u m

)

(COD)

(T-N)

(T-P)

#

'0.45p m

SS

17



) (
3/9 3/16 3/27 3/9 3/16 3/27
SS [mg/1] 1 2 2 | 1.7 1 1 2|1 1.3
CoD [mg/1] 1.7 1.5 1.7 1.6 1.1 1.0 1.6 | 1.2
[mg/1] 0.38 | 0.39 | 0.37 | 0.38 0.43 | 0.45 | 0.45 | 0.44
[mg/1] | 0.022 | 0.035 | 0.025 |[0.027 | 0.021 | 0.014 | 0.023 [ 0.019
4 < >
- (372)
[mg/1] 5.0
(0,3,5m ) [mg/1] 0.63
\ [mg/1] 0.072
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(3/2) @3727) | )-C )
[mg/1] 6.0 | _, 5.1 -0.9
€0, 1m ) [mg/1] 0.68 | _, 0.82 0.14
[mg/1] 0.056 | _, 0.054 -0.002
[mg/1] 5.0 | 5.4 0.4
(0,3,5m ) [mg/1] 0.63 | _, 0.53 -0.10
[mg/1] 0.072 | _, 0.061 -0.011
[mg/1] 5.6 | _ 5.6 0.0
(0, 1n ) [mg/1] 0.61 | _ 0.53 -0.08
[mg/1] 0.096 | _, 0.078 -0.018
[mg/1] 5.3 | _ 3.9 -1.4
[mg/1] 0.87 | _ 0.73 -0.14
[mg/1] 0.056 | _, 0.040 -0.016
>
>
>
>
>
>
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SS CcoD
[ 1 [%e] [m] [mg/1] [mg/1] [mg/1] [mg/1]
2k -om | 8.2 7.4 16.97| 17.73| 2.5 2.0 3 3| <0.5| <0.5| 0.05| <0.05| 0.024| 0.025
2k 3m | 8.4 8.3 18.23| 17.82 3 2| <0.5| <0.5| <0.05| <0.05| 0.025| 0.023
2k 5m | 8.2 8.5 18.85| 18.38
2km -0m 9.6 6.6 19.03( 13.00 3.0 1.5 2 5 <0.5 1.1| <0.05 0.05( 0.023( 0.031
2km -3m | 9.4 9.3 18.93| 18.88 2 2| <0.5| <0.5| <0.05| <0.05| 0.024| 0.023
2km -5m | 9.2 9.5 18.93| 18.65
-om | 9.8 8.8 18.98| 19.00| 3.0 3.0 2 2| <0.5| <0.5| <0.05| <0.05| 0.022| 0.024
3m | 9.4 9.7 19.04| 18.98 3 2| <0.5| <0.5| <0.05| <0.05| 0.024| 0.022
5m | 8.8 | 10.0 18.96| 18.97
2km  -Om | 8.2 8.4 18.40| 18.59| 4.0 4.0 2 1l  <0.5| <0.5| <0.05| <0.05 0.020| 0.022
2km  -3m | 9.0 8.5 18.40| 18.61 2 2| <0.5| <0.5| <0.05| <0.05| 0.022| 0.021
okm  -5m | 8.4 8.7 18.51| 18.59
CcOD
( [mg/l] [mg/l] )
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cob CcoD
[ng/1] [ng/1] [mg/1] [ng/1]
2km -0m <0.5 <0.5 <0.5 1.4 1.0 2km —-om 0.05 <0.05
0.07 0.24 0.17
2km -3m <0.5 <0.5 <0.5 1.5 0.9 2km -3m <0.05| <0.05
2km -Om <0.5| 1.1| <0.5 2.0 1.1 okm -Om | <0.05] 0.05
<0.05 0.38 0.18
2km -3m <0.5 <0.5 <0.5 1.6 1.0 2km -3m <0.05| <0.05
-0m <0.5 <0.5 <0.5 1.5 0.9 -0m <0.05| <0.05
<0.05 0.23 0.16
-3m <0.5 <0.5 <0.5 1.7 0.8 -3m <0.05| <0.05
2km -0m <0.5 <0.5 <0.5 1.8 1.0 2km -0m <0.05 <0.05
0.10 0.34 0.19
2km  -3m <0.5 <0.5 <0.5 1.5 0.9 2km  -3m <0.05| <0.05
[mg/1] [mg/1]
2km -0m 0.024| 0.025
0.011 0.046 0.025
2km -3m 0.025 0.023
2km -0m 0.023 0.031
0.006 0.048 0.027
2km -3m 0.024| 0.023
-0m 0.022 0.024
0.005 0.041 0.023
-3m 0.024 0.022
2km  -Om 0.020f 0.022
0.007 0.051 0.019
2km -3m 0.022 0.021










